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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in_zero mark in that question.
D C B A Questions / = ui» B
10 10 0 1 11 D &eee 2-by-2 gub’f,)ﬁ’&l)dﬁ Il
1 0 0 1 1 0 0 1 Identity matrix of order 2-by-2 is :
i i =1 1 PP 2
logn tog,m mlogn nlog,m log,m" = ——~~: 3
14,-_--,%@:]{ x+ e 4
\/——y —X—Y X =4y —x+\[): . ‘ ) \/;K
Canjugate of surd x-h/} is === :
2ol ,SE X +4x +m Eg/:‘fg/(f‘m” 3
-4 4 =4 B Find *m’ sothat x% +4x + m isa K
complete square :
a 1 6
I - || 4 +
b 4a ‘ 9a2 = b2 3a-b
2 2 2 2
9a* - b 9a°-b Snaplify e 1 _ .
9a* -b> 3a-b
x>10 x>8 § e ?x;d‘/,c—lo:,fd/x)’! 7
If x is no larger than 10, then ---- :
o : P Pl L§5(2,-3) 8 |8
Point ( 2, — 3 ) lies in the quadrant ---- :
g 5 1 0 el € (1,10 (0,056 | 9
Distance between the points (0, 0) and (1, 1) is :
. : %JﬂJL’:’lyw-“-”A LJVJU}L;";) 10
= A o = Symbol used for congruency of two
triangles is «---
U;uﬂdjl;’/)'J‘L;‘CM’Jl?NLJI):U’fﬁ 11
— o os LW | 1f o opposite sides of a :‘aan---
Trapezium Rhombus Square Parallelogram quadrilateral are congruent and parallel,
it1s a ----- :
L S o S5 t e et Lyl 2k | 12
Concurrent Congruent Perpendicular Parallel The bisector of the angles of triangle are ---:
VI 13
s b Rl B VAP gy )T
Parallel Different Same size | Concurrent | Congruent triangles are :
and shape
ks il Py Yy O e T LGN 1 oG 41 | 14
. ; - . Triangles on equal bases and of equal
Similar Different Unequal Equal al‘éitu%]es are w4y hrarcy - 4
- S w . 9 ¢ e Y 4 b 15
AU £ Ui ol ,;1/1/1, Cusps ..;t_,dM.-_‘.urJ quM»LJ’_,.J.».{r
Tsoseeles Equilateral Right Susllens A triangle .havmg two sides congruent is
angled called ---- :
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(PART-IJs.2)
12 2. Write short answers to any SIX (6) questions : : of ez A7 L =iy (6)1’7:.4;/ 2

M If A:[_1 2] and B:[ ; IJ e A-B FB:[ 2 I}JM:['I 2]/7 ®
0 1 -1 2 -1 2 01

then find A -B

(ii) Simplify and write answer in a + bi form$ 1_+2i 1—_;2—1 AR FS avbi G
(i) Simplify - (] + 22 24 Gii)
(iv) Find the value of ‘@’ if : log,6=0.5 g ﬁ&{()"afJ‘a " (iv)
(v) Solve : i’ 7 é’i:gf ()
(vi) Reduce the rational expression to the lowest form -i—%%;— : é u:‘fj o7 /“7 l( P Jl’ ¢ (vi)
(vi) Simplify : 3/243x10213 28 A (vid)
(viii) Factorize : 5x3 - 20x D E YA (viid)
(ix) Factorize : 1-125x%° 2264 (ix)
12 3. Write short answers to any SIX (6) questions : : o Y 4 AL ey (6);{:.81( 3
(i) Find L.C.M. 57; , 85x%yz 187xyz? t e P 1o ()
(ii) Define non-strict inequalit . By P Sl s A G

(iii) Solve for x : [3x—5]=4 [3x-5l=4 4 Z:(:L”;;«g(!x (i)

_Z:(p"‘.:/g ’!mé//yli:’u.ffp(y=mx+c 1(4x—2y=2c>m/ (Giv)
(iv) Find the value of m and ¢ of 8e given line 4x—2y =2 by expressing inthe form y=mx+c
(v) Draw the graphof : 2x—‘)'1= Z 1zl )
(vi) Define isosceles triangle. -’cf:i.éj Y . oi‘r’-ug Vigslr (vi)

A(3,-5),B(2,-4) e bl KB aIA b6 (viD)
(vii) Find the distance between Aand B : A(3,-5),B(2,-4)

(viii) Find the value of unknowns for the given A :éfi:(;h”q/l@(!b’tc,utﬂi‘gf&?ﬁfd) (viii)

congruent triangles :
L4
(5%+%)
o
55

B smts
(ix) Find the unknowns in the given figure :

0y
12m+6

C
:éf}"’@;lﬁ/(}"’bg&fd} (ix)
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12 4. Write short answers to any SIX (6) questions : : ol Y 4 /‘“"‘ Z e lly (6)4461( A4
(i) What is meant by the right bisector of a line segment? Sl /y’:_wcd)/ L (i)
S BUST AL eteium Fa s 3 WS L ke 22551 Gi)
(ii) If 3cm and 4cm are lengths of two sides of a right angle triangle, then what should
-be the third length of the triangle?

(iii) Define ratio. ?z"_}l/gc..:ar’ (iii)
(iv) State Pythagoras theorem. S e Gy)
(v) Find the value of x : | Cm JZ com Zé(’}’" =i
(vi) What is meant by the triangular region? fesl /gfc,ﬁwéf” (vi)
(vii) Find the area of given figure : 2em : 5()"‘ SKF Gid
1

6 cm

mYZ=7.6cm,mXY =6.lcm,mZX =90° : U et AXYZ (viii)
(viii) Construct AXYZ in which : mYZ =7.6cm , mXY = 6.1cm , m£ X =90°
(ix) What is meant by the median of a triangle? fe e & bs Ll (ix)
(PART I £33 )

Note : Attempt THREE questions in all. -§.dJU 9 / dlr‘pjg <& a&iﬁﬁaﬂlr‘f g)/ O
But question No.9 is Compulsory.

4 5. (a) Solve by matrix inversion method : ZEfesaluLuds () 5
—4x-y==9
3x+y=5
p+q q+l‘
P q - .
4 (b) Simplify : (%) : (%—J + S(ap.a’)p " a0 L2 (L)
a a
4 6. (a) Uselog tableto solve : @38(3)38_8;)4.—0—52 32,§J’5—MJJU?(3/W M 6
4 -’q":})’"&f(f{l%ﬁ— : 3) I (Sx——l—j=6fl {ise )
125x Sx
) If (Sx——Lj=6 then find the value of (125x3 - 3)
Sx 125x

4 7. (a) Factorize by factor theorem : x—2x% ~x+2 s il () 7

4 (b) Find the values of { and m :‘_‘ZM&/J'[M:;UZ;{(}’”;EJU}A& maf (&)

for which the expression will become perfect square :

x4 16x% 1 ix+m

4 8. (a) Solve the equation : 2 = —1— - L , X #E=2 :é(}”..:( J’Kgut/ M) 8
3x+6 6 2x+4
4 (b) Construct AABC, in which : LUAUTE LABC &b (&)
mBC =4.2cm ,mCA=3.5cm , mZC =75°
8 ﬁfﬁb’l:/,:J/CdeLL}.x);J!u?n,Pwid}Vc,u;/Lb.xgu’rJﬁugl/l’cfg&f' 9
9. Prove that any point equidistant from the end points of a line segment is on the right bisector of it.
OR 1

~Juﬁ/,!/,u.f,}'/uu;’;/,l/,6@/lLuw!unéb/vaﬂl?d?ugﬁﬁuﬂfz‘:fmL‘“

Prove that triangles on the same base and of the same (i.e.equal) altitudes are equal in area.
175-024-1-(Essay Type)- 165000
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. L»..J:?cfz:c.J:uﬁbéZ.::é:l/éidir/;4:égdlﬁ_u3£27: DstCe¢ B ¢ A&E’ﬁj/%éd’}’/{ ey
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in_zero mark in that question.
D C B A Questions / =iy -y
— | a1 1-1
A [4] A | 4] A= > Adj A
—i-5 5-i :4""5‘?("5"" 2
| The conjugate of —5 —i is :
o e g eednx=log,y /1|3
=) y = The relation x=1log,y implies ----:
: l=? Jrx=2+3/ 4
—2 -3 2-43 ),
If x=2++/3 then —=? :
x
; f ool 4 24 2 2
a—b Y 22— 2 b .%----Jlubwl»(a -b* ma®+b? |3
LCM. of a®+b% and a* - b is—: |
E . Y . 2 6
<P 1| 121 —
x+2,x+3 x+6,x-1 x-2,x-3 xtl,x+6 I 2(}/4_7136 3%+ 6
The factors of x“ — 5x + 6 are--- :
S rion , Srerefid et <>, 2t updd |
eIl Gsk = oAb sl . . i
. . m“»fwéii'/a{/: . . A statement involving any : (_(}Ll:’/ il
Linear equation . Inequality Equation ! :
Identity of the symbols <, >, < or > is called --- :
5 ! 3 2 iy 'y Iny=2x+1,x=2/1 | B
If y=2x+1,x=2,then y is :
(_I _1) (O 1) (1 0) (1 1) J ‘L---JZ;](}L//}K(z,Z)J}’(0,0)Lﬁ; 9
’ ’ i ’ Mid-point of the points (2, 2) and (0, 0) is :
' Symbol used for perpendicular is : )
3 e S Wi & S LS L L | 1
N fth Passllel Do not Int Diagonals of a parallelogram --- each other
one of these aralle intersect Intersect at a point :
u’f ST /L.u)/ . ﬁbﬁﬁa:?ﬂél%&bd}f&b;ﬁfﬁﬁu{i 12
& ) Jh " M J/’ A point on the right e trleWiflra o
Any point Vertex / Mid-point | bisector of a line segment is equidistant
End points from its --- :
6{ u; " e :c"_CCl‘egbuglJ//}lvgé—J:L@”‘ 13
Many Th;e " Yoo One One and only one l?ne can be drawn
through --- points :
70 Eo 5 &, el D LB X sl S | 14
Circle Parallelogram Square Triangle Area of --- = base x altitudes :
15

AU LU yigols NG Loy ¥
Isosceles Trapezium Right angled Scalene

:4‘,3M____unft?~'(,wm£u’-w,{1
A triangle having two sides congruent is
called ---- :
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: (PART-1 s )

12 2. Write short answers to any SIX (6) questions : ) A2 f’ L ety (6){:.&( 2
-4 2 -3 . [-3 w2
M) If 4=  B=| |, find AB ..Zp> AB JB= A= S G
z 1 -2 -2 2 1
s (xs)z é/”“” (i)
xriptl=d=3i Jekerufd y o x G
(ii) Find the value of x and y if x+iy+1=4-3i

(i) Simplify :

’Z{ (}”’&é'tfx (iv)

(viii) Factorize :

(iv) Find the value of x: loges8==
(v) Find the value of x if : logx = 0.1821 g edd x O
(vi) Simplify : (ﬁ + 71—5) (\/_2— -~ —\71_5] 2 A (vi)
(i) If x=3+2 ,find x+= -é(,b';.EJx+l?x=\/§+2ﬁ (vii)
X X
4x* +12x%5 . : ZE8A (viid)

(ix) Factorize : 1% 2E6F (G0
12 3. Write short answers to any SIX (6) questlons 4 : Y 4 /" L ey (6)14431( 3
%2 —25x +100 Zf(:”’(_}’!_)www}"d FEWAO,

essions by factorization x 2 _25x+100 and x*—x—-20

'4—%x2—-7+:11—x 2L Sl e g Gi)
i S 2 el Gid
ERE Y= -5 :& " LS y=mx+c /_»uufd: Gv)

(iv) Find the values of m and c of the line by expressing in the form y=mx+c¢;

(i) Find the L.C.M. of th
(ii) Solve the inequality :

(iii) Solve the equation

2x-3y=-5

(v) Draw the graph of x=-3 . 2'_._1‘/,.)!)? §x=-3 bl (V)

A(6,-2),B(6,-3) & LebuponLlunndl e (vi)
(vi) Find the distance between the points : A (6,-2),B (6,-3)

A(2,-6),B(3,-6) f:()l”.bﬂdhu)(b.ah’c—z_!&f Uzl b (vii)
(vii) Find the mid-point of the line segment joining each pair of points : A(2,-6),B(3,-6 )

ZJ/'JU&VJV (viii)

(viii) Define congruent triangles.
(ix) Define parallelogram. 2y St (ix)
12 4. Write short answers to any SIX (6) questions : : <Al /"’ L =y (6)14,61( 4
B m ot x pEUE LNO s LMO. wetS vu@; ©)

(i) In the given congruent triangles LMO and LNO LFmd the unknown value of “ x> and “m’

(2‘1'&/9)




N Q) LHL2
¢ APPSR NP sl 3 WS L el hi 255 Gi) 4
4. (i) If 3cm and 4cm are lengths of two sides of a right angled triangle, then what should

be the third length of the triangle? .
(iii) Define similar triangles. “EE oy Iy s i)

(iv) Verify that the measures of sides are :uf’gug,,rﬂu?scwéw,,féqjﬁ (iv)
right angle or not :

L

a=15cm, b=2cm, c=25¢cm

(v) Find the unknown value of “x’ in the ﬁgureztw % :éﬂ"’o{igf‘x’r:"”l?uff €2
)

l¢m .
(vi) Define interior of a triangle. Sesl e snnnleds (vi)
(vii) Find the area of figure : Scm : 2,{(}1"’,,3/?‘}(’& (vii)
Scm .
(viii) Define centroid. ’ -Zf_’:uy/’Jfo’l/b’ (viii)

mAB=3cm,mAC =32cm, mL A=45° . U4t AABC (ix)
(ix) Construct AABC in which : m 4B =3cm , mAC = 32¢m , mL A =45°

(PART-II 53 )

Note : Attempt THREE questions in all. -q_d)U 9 /Jlrdg -&‘Taglzﬁaﬂu’uf g){ %
But question No.9 is Compulsory.

4 5. () Solve the system of 24 P Juil?’ﬁ/:/fu;/’;?éu?bp/?f ) 5
linear equations by the Cramer’s rule :
6x =2y =8
Sx+ y=-4
a a+b b bt+c .. c\¢ta
4 (b) Show that : (%) X [f—c—] x [%) a =1 St (L)
X o 7,

4 6. (a) Use log table to find the value of: % ';"056 :g{rﬂyﬂg_:ngdwr}/w M) 6
4 -a.{pbaw};(xh% I x4 =3 ()

X X

b) If x+ le 3 , then find the value of x> +l3
x x

4 7. (@) Factorize the polynomial by factor theorem : :2£( 3 Sz t} - md; Fe (h) 7
3 v
X" —=2x " —x+2

4 (b Find H.C.F. by division method : e F e s (L)
xt P —2x? +x-3, 5% +3x2 —17x+6
4 8. (a) Solve : —554_23’%1 Z S () 8
4 (b) Construct AABCand draw EE e LU Lzt AABC (L)
] perpendicular bisectors of the sides of triangle :

mAB =4cm ,mBC =48cm mAC =3.6¢cm
-winﬁﬁwtiugﬁuufﬁwggféﬁfah‘ 9
9. Prove that the bisectors of the angles of a triangle are concurrent.
OR

b
-Ju,n'/,l.{u:,}/uuyi/:l/,Cli‘;/lmL.ﬁG._f,cﬁu}puﬂfé-:f,(f
Prove that triangles on equal bases and of equal altitudes are equal in area.
176-024-11-(Essay Type)-/33e20




